A78  Answers to Exercises and Chapter Tests

99, (a) 25
-9.42 H 9.42
25
(c) 25 The graph of y = f(x) lies
— between the two other
graphs.
9.42

101. (a) P(r) = 8* — 82 + 1 (b) O(r) = 16£° — 20" + 5t
104. (b) 25cm? (¢) 7.07 cm X 3.54 cm
107. (a) and (¢) 2.5

-2.5

The graph of f lies between the graphs of y = 2 cos ¢ and

y = —2 cos t. Thus, the loudness of the sound varies between
y=*®2cost.

108. (a) y = sin 15407t + sin 24187t

(b) y = 2 sin 19797¢ cos 43971
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SECTION 7.4 = PAGE 522

1. infinitely many 2. no, infinitely many
3. 03 x=~—97 -60,-34,03,28,66,91 4. (a) 030,2.84

2
(b) 2,030 + 2k, 2.84 + 2emr 5. % + e, Tﬂ + e

5
6. —% + 21m,% + 2 7. (2k + 1)

1
8. 7—67— + 2%, 1—63 ¥ 2km 9. 132 + 2, 4.97 + 2k

10. —030 + 2k, 345 + 2km 11, —0.47 + 2%k, 3.61 + 2km
12. 1.25 + 2kwr, 5.04 + 2%km 13, ~§ + kw14, % + kar

5 ,
15, 137 + k16, =032 + ko 17. ?77 + 2k7r,7—67: + e,

—~7a/6, —5w/6, 57/6, 1w[6, 117[6, 197/6

18. ~731 + 21<qr,—73Z + 2y —5m(3, —a)3, w[3, S /3, Tm[3, 11m/3

3
10, % + 2%k, 7:5 + 2y =T[4, — 5w /4, w /4, 3ar/4, O /4, 1Lar]4

4
20. ——;L + 2k, -371 + 2k

—2m (3, —m[3, 43, 57/3, 107/3, 117/3

21. 1.29 + 2k, 5.00 + 2ksr; —5.00, —1.29, 1.29,5.00, 7.57, 11.28
22. 1.19 + km; —5.09, —1.95, 1.19, 4.33,7.47, 10.61

23. —1.47 + km; =775, —4.61, —1.47,1.67,4.81,7.95

24, —1.12 + 2k, 4.26 + 2kmw;, ~2.02, —1.12,4.26, 5.16, 10.54,

3
1144 25. 2k + w26 g + 2

5 ,
27. —% + 2k, —Z— + 2%k 28. ~% + 2k7r,z~ + e
29. 020 + 2k, 2.94 + 2k 30, 1.82 + 2km, 446 + 2
37
S

n kr

T T 37 T
.k, kw32 =+ kw330 — + km,
31 G T 5 kar 1 kw33 1 kr

2
34. %+ kw,%u k35, =111 + kar, 1.11 + kar

3
36. —034 + ki, 034 + k37, —E+ k., ~471 + kr

5
38.%+k7r,~g+k77

2 4
39, —1.11 + ki, 1.11 + lm,—; + 2/m,—37Z + 2k

40. —0.25 + kw, 111 + kw,0.25 + kmr

T Sar T 11ar T
41, — + 2kw, — + 2km 42, — + 2kw,— + 2km,— +
1 3 77,3 T 5 T, G 7r2 2kar

43. 034 + 2kw, 2.80 + 2k 44, £1.25 + kor, 111 + kv

45. % + e, %ﬂ + 2w 46. —3—23 + 2kw  47. No solution

3 5
48. No solution 49 ~271 + 2%k 50. kvr,% + ki, —6T + ko

11
b T 2k77,—-é7—r- + e

51.
6

7
52. ALy
4

53.
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+
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=
3

+ kw54, kW,—?—ZL + kr
55. ki, 0.73 + 2k, 2.41 + 2km
56. 1;— + ki, —0.85 + 2k, 3.99 + 2k

57. 44.95° 58, 41.1°
59. (a) 0° (b) 60° 120° (c) 90°,270° (d) 180°

SECTION 7.5 = PAGE 528

1. sinx=0,km 2. sinx + 2sinxcosx =0,
sinx=0,1+2cosx=0 3.~ + 2k¢r,7—671 + 2k, 7+ 2
4, No solution 5. (2k + 1), 1.23 + 2k, 5.05 + 2k7

6. —% + kw, 046 + ki 7. kw, 072 + 2k, 5.56 + 2k

8. kr, 1.23 + 2km, 5.05 + 2kmw 9. T6‘_ + 2, %T‘ + 2kar

3 5m
10. 3;’—+ kw,—g +kr 1L §+ 2/m,~371 + 2, 2k + D)

2 T
12. 3;— + kw,—gz + k13, (2K + 1), 5 + 2

3 T
14, 2k77,~5- + 2k 15, 2kw 16, —1.24 + ka, 7 + kar




